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9:50 54 1500m A&
9:55 5—54% 1500m A&
10:05 =_54% 1500m A&
10:15 5=54% 1500m A&
10:40 B —% 4 800m JRE
10:45 B 800m JRE
10:50 =24 800m JAE
10:55 a—%E 800m JRE
11:00 =_u4% 800m JAE
11:05 S-XHE 800m JAE
112 B — 4 100m JRAE
11:15 E7gege= 100m SRE
11:18 =24 100m SRE
1:21 5—X&E 100m SRE
124 5 _XHE 100m SRE
1:27 B4 100m A&
11:30 B—%4 100m A&




11:33 B4 100m JRE
11:36 =54 100m JRE
11:39 5—54% 100m JRE
11:42 =_54% 100m JRE
11:45 =2=54% 100m JRE
13:30 B —2 4 400m JRE
13:33 Eiegas 400m JRE
13:36 B =24 400m JRE
13:39 B—XE 400m RE
13:42 =_u4% 400m RE
13:45 [Sigoecs 400m JRE
13:48 H—54 400m JRE
13:57 B _ 84 400m JRE
13:54 =54 400m RAE
13:57 5—54% 400m RAE
14:00 5_54% 400m RAE
14:03 =5=54% 400m RAE
14:06 B—54 - &4 A00m BERE
14:09 BS54 4 400m BERE




14:12 =54 - X& A400m EIVRE
14:14 5—%E 400m EIPRE
14:16 S_¥%E 400m EIVRE
14:18 S=%E 400m EIVRE
14:20 5—5% 400m EIPRE
14:22 5_5% 400m EIPRE
14:24 5=5% A400m EIPRE
14:35 [ ch—F 4R ABEEIDRE
14:45 [ o AR AEEIDRE
14:55 [ oh = F 4R AEEIDRE
15:05 SP—F& AEEIDRE
15:15 SP_FR AEEIRE
15:25 SP=FHHAE AEEIDRE
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9:10 SPBE Bhiz
9:10 Eilkeges s
9:10 SPRE ZEIK
10:00 EilEkeges Bki=
10:00 SP5E s
10:00 B e ZEIK
11:.00 B pSS4 Bki=
11:.00 SPRE Bs
11:.00 EiEkeges ZEIK
13:30 SPRE Bi=
13:30 B hSS4 Bs
13:30 SH5E ZEIK




